STUDENT FEBRUARY 2018

8102/20/8¢

P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
p
P
p
P
p
P
p
P
p
P
p
P
p
P
p
P
P
P
P
P
P
P
P

8102/20/L a|a|a|a|al|ala|a|ala|alalalalalalalalalala|a|<|ala]ala|ala|ala]|a|a]|a|a]|a|ala|a|a|ala]ala]ala]ala]|a|<]|a|a]|a|a|a|ala|ala]a

8102/20/9¢ a|a|a|a|a|ala|a|alalal|a|a|a|a|a|la|a|a|a]|alala|a]a|ala|alala|a|ala]la]a|ala|a|a|la|la|a|lalalala]a|a|a|a|a|a|a|la|a]|ala]|a]a|a

8102/20/¥C| a|a|a|a|a|ala|la|alalal|a|a|a|a|a|la|a|alalalalala]a|ala|alala|a|ala]lalal|a]a|a|a|la|la|a|la|alala]a|a|a|a|a|la|a|la|a|ala]|a]|a]a
8107/20/€f|a|a|alalalalalalalalalalala]|<|alalalalalalalalalalalalalalalalalalalalalalalalalalalalalalalalalalalalalalalalalalalala
8102/20/tC a|a|a|a|a|alala|a|<|a|a|a|a|a|ala|a|ala]|al|ala|a]a|ala|alala|a|ala]a]a|ala|a|a|lala|a|lalalala]|a|a|<|a|a|a|a|la|a]|ala]|a]|a]a

wﬁON\NO\HNPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPP

8102/20/0C| a|a|a|a|a|ala|a|alalal|a|a|a|a|a|la|a|a|a]|al|al|a|a]a|<|a|a|la|la|a|a|a]a]ala]a|a|a|la|la|a|lalalala]a|a|a|a|a|a|a|la|a]|ala]|a]|a|a

wﬁON\NO\mﬁPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPP

8107/20/LT

P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P

810¢/20/9T

P
P
P
P
A
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
A
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P

8102/20/ST|a|a|alalalala|<|alalalalalalalalalalalalalalalalalalalalalalalalalalalalalalalalalalalalalalal<|alalalalalalalalalalala

8102/20/VI|a|a|a|a|a|a|a|a|ala|ala]ala]alalalala|ala|ala|ala]ala|ala|a|a|a|a]|a|a]|a|a]la|ala|ala]ala]a|a]a|a]|a|a]la|la]a|a|a|a|a|ala]a

810¢/20/0T

[2]
P
2]
P
2]
P
2]
P
2]
P
2]
P
2]
P
2]
P
2]
P
2]
P
2]
P
2]
P
2]
P
2]
P
2]
P
2]
P
2]
P
2]
P
2]
P
2]
P
2]
P
2]
P
2]
P
2]
P
2]
P
2]
P
2]
[2]
2]
[2]
2]
[2]
2]
[2]

810¢/20/60

p
P
p
P
p
P
p
P
p
P
p
P
p
P
p
P
p
P
p
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
p
P
p
P
A
P
p

8102/20/80|a|a|a|a|a|a|a|a|ala|ala]ala|a|<|a|a]a|a]a|ala|ala|ala|<|a|a|a|a|a]|a|a]|a|a]|a|a|<|a|a]a|a]a|a]|a|a]|a|a]|a|<|a|a|a|a|a|ala|a

8102/20/L0|a|a|a|alafalalalalalala]a|a|a|alafa|ala]lal|alal|a]a|ala|alafa|a|ala]alalala|a|a|ala|alalalala]a|ala|a|afa|a|lalalalala]a|a

8102/20/90| o |a|a|<|a|a|a|a|ala|ala]ala]ala]a|a]a|a]|a|ala|ala]ala|ala|a|a|a|a]|a|a]|a|a]la|a|a|a|a]ala]|<|a]|a|a]|a|a]a|a]|a|la|a|a|a|ala]a

810¢/20/S0

810¢/¢0/€0

p
P
p
P
p
P
p
P
p
P
p
P
p
P
p
P
p
P
p
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
p
P
p
P
p
P
p

p
P
p
P
p
P
p
P
p
P
p
P
p
P
p
P
p
P
p
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
P
p
P
p
P
p
P
p

8102/20/20|a|a|a|afa|a|a|a|ala|ala]ala]ala]a|ala|al|a|ala|ala|<|a|ala|a|a|a|a]|a|a|<|a]|a|a|a]ala]ala]a|a]a|a]|a|a]|a|a]|a|a|a|a|a|ala]|a

P
p
P
p
P
p
P
p
P
p
P
p
P
p
P
p
A
p
P
p
P
p
P
p
P
p
P
p
P
p
P
p
P
p
P
p
P
p
A
p
P
p
P
p
P
p
P
P
P
P
P
P
P
P

8102/20/10( o |a|a|afa|a

I
Z = _ _
%) T = = = | = (< <<
= Z & z < = Wn x HEE - Z|- - I|T =
< gz = %] = < o o o)< z = < =|3 _ 3
R E4FE HEE kL zlz|_|3l=13|| |=|_|Elz|5| (E|E|E 5_| |- 23 |z S EEEERE
] RS =2l ==l | ==l 2|8 =l 2|= Szl =2|BIEZ2 2|2 2 =212 2] |12]2(e=2] [21=] (2= _[E|2] [E|=|=z|z|2|SI5(2I215] |2
A P R R E R e E ] E e P e E e e b F E e B B i E E B R B R RE EEEHEEEEERE
Z|o|l<| S| S E 2] e T aln PIEIEEIES T n I|= T o T P = [ =
> =|= x|z|z oSS =la|2| T I(< n|< o =] = <|=|Z|= =2 T Tln|o EEIE <|=s|W
= Q = A R EI S x(Z|g |ulE S(Z|alx|2 <o SlelE S o|= o|5lolz|8 ol z|Z|a|s =
Z 512|212 (215|8(518|8|2 123|222 2|2 = 2| 2|8 2| | E| 2| 22| 2| <[ 2|zl 2| 2ol <| &£ E|S| 2|2 2| 2| 2|« | 2| 2| 2| Z|5| 2| £| ¥ <[ <| 2| =
= S| =lz[= L|olS|E FEEERGEEE o xc|= < o= OlF(2|Z|E|= <|Z | <|N HEIEE <|<|w
< < < S|I< < < s T [C] S| Iz = EEAR |z S|< I|x |2
a > |0 < S|9(Z|2|Z(Z < =|[> I|lals R E B L ) o] =4 I =] wlxe|Z HEE R IR ol <
S ||z 5|5(2|2| 02| E|a| 2|25 2| 2|zl 2|z 2| 2|3 2 0|E| 2|2 S| <| 2|z 28| 2| &l 2| L 2| 2| 2|2 |z 2| =| 5| Elo|S| 2| =| = 2| 2| o] > | B[ £
5 2|Z|$ HENFAMEEIREENEAEE AR EEHEHE EEEE R EHEEEHEEE R SIEENEHBAHEENERE
I clg|z|2|<|z|z|2|E| 222|513 2| 2(=z=| | 5| S| (22| 2| = 2| Bl == 2122|225 2| 2| 2|2 < HEAAEHEEHEBEEBEEEHEE
<| 2|52 Z|2|Z| <[] || 0| w2 ol Z(S| || SEZ2|2(2(S| 2| Bl 522022255 2|2 22| 8|5 2| 2| 5| s <| <] <|5|2[3]|2 Sl=<|z
T = Z2|T|= sl <|T(E| S| (o T|ln|T S(s <[<|a|v =2 = o] = al<|T|2 MNEEEEEEIFERE
<|[=|= HEAEYE A A S S Y Z|(v|T <|¥|x =S S| EIE 5912 |22 alalz|=|2(= = s|o =
2|=(515(2|12(2|2|5| Z|2| 2| SIE||Z|E| 52|22 |3 2| < SIE212] 2| 2| 5| 5| E| 2|z |0z | 2|0 £l 5| & £ 2| 2| 2| 2| 2| 2| 2|2 | 2| 2| S| E| £
z|z|o|=|z|=|2|2| 2| <|2|E| < 2zl =z| 2| 2| 2| 5| 5| 2|5 < | SIS 5|5 £ 2] 2| 2] <| B2 ElZ(Z3|12]18(2|2| %25 > 2|12 <| <| 2| 2| 5| & 2| =| <|E|S
s|=|=|<|8]|=|5| 3| 2|22 | 5| 2| 2| 2|2 <| 2| 2| 2| 2|2 2| 2| 2| 2| 5| 2| 2| | = | o| £l =| 2| | 2 (5| 23| £ 2| £| 8| 2| <| £|E| 2|2 3| 2| 2| =| = | 2| E| 2| &
2lz|al= bt 17 R4 4 e =1 4 = e i ) ) 21 i) S MEEEREEEEEEE “ NEEREEG o|ala
HEEEHEEEEEEHEE BB BEEE RHEHEENE EHEEEEEEE R E E R EEE R HEEEE EEEEEEEEEE
alplz|z|z|S|a|E2|o|<|<|z|z|z|d]|z]|= I|g|Z(E[(Z|Z|Z|2|=z(s|alz|z| 22 S|Z|2[Z= HEIRE
=| 255|522 2|2 0|62 2 2| 2| 2| 2| 2| 2] 22|82 2|2 2 2]2(2] 2| 2| 2| 5| 5| 2| 5| 5 | 5 | = | = | =l =l 5| 5| 5| 5| 2| 2| 5| 2| 2| 3| 2| 2| £ £(2| 2| 2| 2
<|d|sd|d|a|a|x|x|x|a|e|T|C|[S|C|alalalalalo|o|S2|2[2]|2]|2|Z2[Z]|Z|0|ala]|a|a|a|a]|a]a|a|a]|a]a|a|a|d|a|a| 2| a|a| A F|E|E[S]S]5]|N

SR.NO
1
2
3
4
5
6
7
3
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60




